YEAR 12 PRACTICAL HOMEWORK EXERCISE 2 MARK SCHEME

Analysis
1.
HA + NAOH
(
NaA + H2O  (1)
2.

27.95  + 28.05   + 28.00 



          3                     

= 28 .00 cm3 (1)
3.
Moles of alkali  = CV
= 0.1 x 25 / 1000 = 2.5 x 10-3  

1:1 reaction so moles of acid = 2.5 x 10-3 
conc = 2.5 x 10-3 /(28/1000) 
= 0.0893 mol dm-3 (1)
4.
conc. original solution
=
0.0893 x 10 
=
0.893 mol dm-3 

conc. in gdm-3

=
0.893 x 60
=
53.6 gdm-3  (1)
5.


(i)
measuring cylinder 
(0.5/ 25) x 100

=
2.00%  
(ii)
Volumetric flask
(0.5/ 250) x 100
=
0.20% 
(iii)
pipette


(0.05 / 25) x 100
=
0.20% 
(iv)
burette


(0.15 / 28) x 100
=
0.54% (all 4 = 1)


TOTAL




=
2.94%
(1)

Precision:
average titre to 2dp



Both concentrations to 3 sf
(1)

Working:
clear working



Accurate use of terminology



Correct units


(1)









TOTAL 8

Evaluation

1.
First titration poor / probably rough 

(1)

Three good results/ concordant results
Titration technique good/ results consistent 
(both = 1)
2.
difference = 2.5

= 4.5 % error 




(both = 1)
3.
appreciates discrepancy (4.5%) is greater than  total apparatus error  (1)
4.



Uses pipette/ burette for measuring supplier’s solution
(1)

As apparatus error is smaller




(1)
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